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Problem 17.14) A wing on a race car is supported by two cylindrical rods. Compute the drag force
exerted on the car due to these rods when the car is moving through still air at -20°F at a speed of
150 mph.
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Problam 17.16) The four designs for the cross section of an emargancy llasher lighting systam for
police vehicles are being evaluated. Each has a length of 60 in and a widih of 9.00 in. Compare the
drag force exerted on each proposed design when the vehicle moves at 100 mph through still air at
-20°F,
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